DUAo gpyaoiag otig anoAuTeg TIHEC AtavTnoelg — AUCELC

1" SpactnpoldTnTa:

A, 2, 2, 2, 2, 2, A, A

2" Spaotnpldtnra:
1l

Ix —3| <2 -2<x-3<2©-2+3<x-3+4+3<2+3e1<x<5
21l

dx,2) 23 |x-2|23ex-2231x-2<-3 ©x>2513x<-1

IA

3—lll
dx, )22 |x—-122ex-1221x-1<-2©x>2313x<-1

Agknon:

A=3|1—x|+4|x|-2|x+2]|, x>1

x>11—-x<0Apa:|l—-x|=—-(1-x)=x-1
x>1=>x>0 Apa: |x| = x
x>1ex+2>14+2=3=2>x+2>0Apa: |x+2|=x+2

Tedwkd: A=3(x—1)+4x —2(x+2)=3x—3+4x—2x—4=5x—7

B=2la—pl+[B3a=2y-Bl+ly—al, a<p<y

e a<pBf<y=Da<pBea—-F<0 Apa:la-Bl=—(a—-pB)=p—«a
e 3a-2y-f=2a-2y+a—-B=2(@—-y)+(@—p)

a<B<yDa<yeoa-y<0e2a—y)<0
Eniongca— B <0
Apa2(a—y)+(a—B)<0©3a—-2y—-8<0

onote: [B3a -2y —B|=—Ba—-2y—B)=-3a+2y+p

e a<pBf<y=a<yeoy—a>0Apaly—al=y—a

Tehkd: B =2(f—a) + (-3a+2y+p)+(y—a)=2—-2a—-3a+2y+f+y—«a
& B=—-6a+3F+ 3y



r=|[2+4|-x?+2x—1|| - |Ix? + 1| + 2x|

1o Brpa: Amtaloldr TwV ECWTEPLKWY ATIOAUTWV.

e —x24+2x—-1=—-(x?-2x+1)=—-(x—-1)?2<0
Apa: |—x? +2x — 1| = —(—x?+2x—1)=x?>—-2x+1
e x2+1>1>0 Apa: [x?+1]=x%2+1

Onorte:
Fr=12+@x—-1D2—-|(x*+1)+2x| =12+ (x — 1D?| — |x% + 2x + 1]
20 BrAuo: Artaholdn Twv eEWTEPIKWY ATOAUTWV.

e 2+4+(x—1)2>0,d4pal2+ (x—1)? =2+ (x—1)>2
e x?+2x+1=(x+1)2>0,dpa|x®+2x+1|=x>+2x+1

TeAwka:

Fr=24+x-1)%?—-(x*+2x+1)=2+x*—2x+1—x?>—-2x—1=—4x+2



